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Question Type: | MCQ
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NEIE TRONE DESEOAITE. 20030 236 QOB 1.04 % 10° ] TR,

QUeston: | .00 MET BOR BRAHT, S0I0 B RSN & HKVTFROT
otDTRTE Ty
A: 2.08 x 10*7




B: 1.04 x 10°T
520%10° 71

D: 236 % 10°]

Topic: Physics-Section A

Item No: 8

Question ID: 15477154568

Question Type: | MCQ

FRTEL e 300C) e3a3) 24T rmLs eotTey) AIedIald 56 ";{ 3730,

Question:
[oie e 30oHS), ARTHNTFE rm.s 236May)
A 82 I%
B: B/
C: 16M/.
D: 7M.
Topic: Physics-Section A
Item No: 9
Question ID: 15477154569
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Question ID: 154771545611
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Question ID: 154771545612
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Question Type: | MCQ
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Question Type: | MCQ
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Item No: 22
Question ID: 154771545622

Question Type:
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Item No: 25
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Question Type:
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50 em 8255 23030, 10 kg TRBOD 2,003 M823F) 360 rpm BT,
23eNBONAE. W3FE 9023TE), TSN FCOLLF,ZeNE O

Question:
Heston 230N 92IEHNBRTE). 2FFT FEHBODRY, AL AN 23X TN
S0l T8 L9edTey) xn Nm. 3030, x o3 23e3o3n
Topic: Physics-Section B
Item No: 29
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BOR0 2.0BER,000 AedBE, 0B BB LDINT, Teheson
3 A%, 15° cD3), 45° RRSNFE), 2,003 23T, AOHETING.

Question: B LBINS BDAIE 3,3% BRONY 330583 80 m 30, BB B33
edog) ms~!
[ZRE3.03: g =10 ms™]

Topic: Chemistry-Section A




Item No: 31
Question ID: 154771545631
Question Type: | MCQ
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Item No: 32
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Question Type: | MCQ

RE3TY,, 0N WO JFODTN, 2.0233 Ty, 0eR), eleBeRR0, fe-
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2.0 2.3 B0, I a3@)edrmon., N2y ™ s30T 38 (G) vs o (T) &

Question: | 505023 333 T NTTYNFE). OIPTHTNT?
.

A: \

B: /

] 1




C: /
i
/

/%T

o
D: —

5T
Topic: Chemistry-Section A
Item No: 34
Question ID: 154771545634
Question Type: | MCQ
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m
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Topic: Chemistry-Section A

Item No: 36

Question ID: 154771545636

Question Type: | MCQ
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MCQ
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CaCO; AiRNed) 3,3 BAMIE. TE¥NTINFE), mati;3e Fodcanish:
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Question ID: 154771545638

Question Type: | MCQ

FOMNBNY Racsi 306 (ABF003RCHT) X 20533, FOOIDG

Question: e30%,00:

A: KF > KI

B: SnCly > SnCl,

C: KF > LiF

D: NaCl > HCl

Topic: Chemistry-Section A
Item No: 39

Question ID: 154771545639
Question Type: | MCQ

E° (eJ@eers) s3iP@,mish: AP/ AL — 1.66, Sc¥7/Se, —2.08: Fe®/Fe?™,

Question: +0.77. Hg,? /Hg. +0.79. 39,¢3° e30300m0n¥a, A7, S¢7, Fe® a3y,
Hg,”" e95dni¥ en3,a@eee ORI 9T T @), atted:
A: AP >85> Fe¥ > Hg, 2"




B: Hg,”" >Fe*" > 85" > APT
C: Hg,” > Fe’ > AP > 5037
D: Sc’” > APT>Fe’” > He,?"
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Question ID: 154771545640
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Question ID: 154771545641
Question Type: | MCQ
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Question ID: 154771545642
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FRDT B3 e). a3;00AT 3 mEitedon N ATy, T¥NT
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A TLC 30350 (3BT a3t Be)

YPLAT 2.3 B, 2263 £
C: e 0, (938023 TI038,T) ent3 Cee




D: = £38630e0
Topic: Chemistry-Section A
Item No: 43

Question ID: 154771545643
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Item No: 44

Question ID: 154771545644

Question Type: | MCQ
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g s ___bh
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Item No: 45
Question ID: 154771545645
Question Type: | MCQ

Br CO0OH

<

J

Question:
00,078 BOTBE[MeN, Tieheen AtDAE 2 )TTEFNY ADSRT
Fedded):

A: (i) Mg (ii) T8;,9G0°3E), CO, (iii) H,0

B: (1) NaOH (11) C,H;OH (111) HCI

C: (1) NaCN (11) H,O (111) HCI

D: (1) KMnO, (11) HCI

Topic: Chemistry-Section A

Item No: 46

Question ID: 154771545646

Question Type: | MCQ

2UNT FOININTE). 0BT, TOTTENTT 2300,
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Jedd $FTea 300 A0T 3 YO (035, BLBORNTITINT?
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Question ID: 154771545647
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NiCl NO,

zer NIBE;
N
@ + xR — @ _— @ (Major Product)
Cu. A

Question:
T063,00e3 CARnoh™ 300 BOMedA, X a3, Y NEFS, T0W&&BAND.
*Major Product: @jeddogd €3 o,

A X=BF; Y=HNO;

B: X=HBF; Y =NaNO,

C: X=HBF; Y=HNO;

D: X=BF; Y=NaNO,

Topic: Chemistry-Section A

Item No: 48

Question ID: 154771545648
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LN Q0B AP TNT ™, IS

BODFI: 3,0007°-610¢)_ DTV (WemeleT?) élFw)
TR T, eI 3N,

Question: BEDBL: 35,0705 6536) s00rCehT° E3E3wa3nd,
Ay TR LT T,AR 0T S030DAT.
2D WELINF I, MeDdDA. TYNS e30),M¢). ApT e
&3 Tedrdy, e3DA:

A TPT -1 DI, TXPT - [ ADCTPNES

B: TPT -1 D3, TXPT - II 59,Ned

C: TLPT -1 AD W0 TEPT - 11 3w, NG

D: TCPT -1 30, NG 3330 CPT - II ADOITNGS
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TLT QTR TAPTNE I, IR

BODLF - 1: 71, ZRC2T 2,000 323,38 FengSe,$re o
;DA 0, NG a3, Y, AveIon;e00N DY DHd,
3,6 T3, TOTED YT 923, tE B, @O A3
oROBTIHTI.
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BEDPTF II: 92,3 RA° D), IDTNRY.E) 203, YT AT
15-20% e, MO 2FE (@) BRODT.

2 2D BRTNF, NebDA. 8 TN escd,MPon e,
AT IR O3 Tedcdy, &3DA:

BPT -1 D3, BAPT - I 0TBR AD

BLET -1 eH3) BEPT - 11 DTBR I,

TLPT -1 A0 30 9T - 11 S5),,

9O/ 0 | >

TPT -1 38, 3030 TBPT - /D
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NO;~ €90339-) S SVOTHT &B0CT 0D, [Fe(H,0)sNO]SO, FO) evomyd
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A +2
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Item No: 51
uestion | 454771545651
Que§tion Numeric Answer
Type:
4 BPLCIVT® NaOH W9je3at3 An0Td3000) 1.160 g mL~! e315S. T9je3cats sd@teinT303m M. (Al FRTBOEOT)
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(33: NaOH & &3.,0¢e50T° Tad0i0=40g mol ! e3NT3)
Topic: Chemistry-Section B
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€363, THES AT.03T 3900 a3, TENTYNFe), wouede
RTTBY (2) BT 9N AO&;000 )
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05,0 6aR,
Topic: Chemistry-Section B
Item No: 53

Question ID: 154771545653

Question Type: | Numeric Answer

31 g DR, YT;Oe° 1 TR, 500 g Ba), DLOSBeodn B3R,
20D WIS e ItFTE 20 K. (Reda3
Question: LI AO08S;) (DON Ky 3 3352553 = 1.86 K kg mol™! 20030 302)0D)

[33.: C. H, O ¥ S30e500° TadTieh kg mol ! ), Tjzdhasen 12. 1. 16]

Topic: Chemistry-Section B

Item No: 54

Question ID: 154771545654

Question Type: | Numeric Answer

50 ml &2, 0.1 M CH;COOH &3, 0.1 M NaOH T9je3catd @08
3,635 000 SrdaeNG. 10 ml S8, NaOH 3, ACDAM, 009238903 pH
Question: 3520, 53) x 1071, (Fprar F085;)

[£33.: pKa (CH;COOH) = 4.8. log 2 = 0.3]

Topic: Chemistry-Section B

Item No: 55

Question ID: 154771545655

Question Type: | Numeric Answer

B.¢3,0083 BRCBT,N Zn(s) | Zn®™ (Cp. M) || Zn 27(C, M) | Zn(s) Ned 3

C
Question: FFOD (AG) TBORVIBOI T, (0) £33, C—‘ ) i
AeaIaNIed) ).
Topic: Chemistry-Section B
Item No: 56

Question ID: 154771545656

Question Type: | Numeric Answer




X—=Y+7

700 K &3€) X' J23283ie008) 'Y eD3) 7' /)y DET32e3T3). 9T T
SRHB TSNP FoUreRN,. B IV0STH):

Question:
@80T A03 X/ (mol'L) 6.0 12.0
= lAn oW 1.0 2.0
HOJMeN 23N AODIV0TY) (E90TTR2 ENLO IV
Topic: Chemistry-Section B
Item No: 57
Question ID: 154771545657

Question Type:

Numeric Answer

FETT DEGTITI EITF ), TOMBA

XE03 BF4_ :[3_ SFﬁ. PClﬁ

Question:
QM) sp’d ROTTLBDRODT sp® ROTTI BRODT eILNY
A085;00 esTe3eY):

Topic: Chemistry-Section B

Item No: 58

Question ID: 154771545658

Question Type:

Numeric Answer

FENTeINE 20D TIREE), 280, (a388) V0TV a3,
®0;00TR0-3¢00 esodionons A0al;030

Question: T, Col, Nitt, Cul', Co' Tit, Zn®', 8
TR, Thededne’ eoca) moad;rish:
Sc.21; T1, 22; Co, 27; N1, 28; Cu, 29; Zn, 30
Topic: Chemistry-Section B
Item No: 59
Question ID: 154771545659

Question Type:

Numeric Answer

CsH,00, €363,F Re3Beodn eetibtod Battodharseonm

Question: 23 3FAORNGE AedeoN ACCINTENY (JeFe AelieoNnsh :303)
AO85;030
Topic: Chemistry-Section B

Iltem No:

60




Question ID:

154771545660

Question Type:

Numeric Answer

CyoHig ARITAHODNTI B;Ba T TE) €323 00D

20830, A0NTT BT eR;0NREF B0l 3364 2,0T3¢ 3 73,
LB TN e ez, Ned?

Question:

Q X E%\ = E\:

=3 2 E \ 5 5
Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545661
Question Type: | MCQ
2
T s _ 2x“+3x-2 -

Question: f:1R-{5} > R, f(0)=""———= DO 0, 80; IRVN. f

INTOANIAN
A: DT-HDT 203, 20O
B: DTF-HDT S0 eDCOe3e),
C: 2O STV DT-DTaIC),
D: DT-DT eI, LNOITEBI e9¢),
Topic: Mathematics-Section A
Item No: 62
Question ID: 154771545662
Question Type: | MCQ

. 1 1 6
21=142i,z,=2+i, —+—=—32aN3) z= — e3nTe),
Zy Z9 W 2 —w

FPNT DEPITF ), BOMBA:
Question: .

Sq) Bl=—F/=

(S,) BRETVOT (2) + ZRETVOS (W) = ran) |"§'|
A (51) 2N3Y. (S,) QTBR 3R,

Zez30) (S,) T3 A0




C: FC3O (S;) 2003, AD
(S,) DI, (S,) NFTBRe ZO
Topic: Mathematics-Section A
Item No: 63
Question ID: 154771545663
Question Type: | MCQ

x+ty—z=-1
x—=y—3z=2

—X+ ¥+ 2= D02 B3 T FeddFTONY Mes sl 9mDeld3

Question:
HOTRONF, TRODTS. eI,
(h+2u, 20+ 1) @03, (1, Ap) O ENROT T3 TBUALMIES TEESCH
Ae)TTITY)

A 4x—6y=-5

B: 2x—=29=73

C: 2x—2y=-1

D: dx+6y=35

Topic: Mathematics-Section A

Item No: 64

Question ID: 154771545664

Question Type: | MCQ

2] .[2
o 345

ﬂ:[; ';'] e3NTEI0Z 4 D02 WO 03 ZANTE.

Question: " °
2,003 238 | 4 | 23) | 47 | 02NTIY ax” + bx + 3 =0 D02 WINE
AedITTE eDPONGITT a + b —ab &3 233030

A: -34

B: 50

C: -390

D: 438

Topic: Mathematics-Section A

Item No: 65

Question ID: 154771545665

Question Type: | MCQ

Question:

i S e s i n2p <0 NS 0 S ), WSNY elodad.




A 40
B: 45
C: 55
D: 56

Topic: Mathematics-Section A
Item No: 66

Question ID: 154771545666
Question Type: | MCQ

(1+ 23()2[}22 +2x (1+ zle{lll b (21_)2 (1 & 21_)2{!'2[} G {zszozz O

Question: " s
DR TBOHE), 108 =3 AT )

A 222C1011

B: E{JEEC 5 (2:]101[
M

c: 2023¢, 0y, % ()01

. 2023

D: Cron

Topic: Mathematics-Section A

Item No: 67

Question ID: 154771545667

Question Type: | MCQ

o] = 1 9o 54729, 63, 52 1 020 AP.OHATD 203y, 9Ny
A0, 2353054 d E3NTE). o 0N WRTI B3 a3, d 02T

Question: | 37073, 53,30, RETONTHETOB S, 0LV A P.OD BT n BENE
w23 20N0E). S55— S5 =30k 330 k O 23e3adn
A 715
B: 695
C: 684
D: 683
Topic: Mathematics-Section A
Item No: 68
Question ID: 154771545668
Question Type: | MCQ
Question: 2 S M =
2 @m+I)
ZAe 7y
B: 211




C: 2e+0D
D: 2(e+1)
Topic: Mathematics-Section A
Item No: 69
Question ID: 154771545669
Question Type: | MCQ
sin(eoc+ 3x) +8inx e
x
|
2 ., x=0
fG)=1 :
& 1
. G¥ 3
Question: (x+6bx<) -x
3 , x=0
- 3_‘{A
02T x = 0 TE), €90323, 3,200NTE). (l_k}f[lJ — ab 83030, k o
18
ATSTOVEATA AT .
A: -6
B: 15
C: -13
D: 8
Topic: Mathematics-Section A
Item No: 70
Question ID: 154771545670
Question Type: | MCQ
2x i
y(x)=tanx— J (x2 —xt+ Dsint d €301, x== D) 2)" — " T AN
Question: 0 3
35°),;3):
A: 158
B: 159— 443
C: 126
D: 127-4+3
Topic: Mathematics-Section A
Item No: 71
Question ID: 154771545671




Question Type: | MCQ
[+ L
Question: 4, =J“- P e B B0 2, B0 e N s SeSasn
kx =0
T ‘\
A- e +li(1_€_2{}n]
et — IJ ;
] &
B 1[9 +l](1_e—m]
2le™-1
T .
C: et +1 i(l_e_zlﬂ]
e’ — IJ
] &
D: 2 +1\]i (1 _70"‘]
2le™-1)
Topic: Mathematics-Section A
Item No: 72
Question ID: 154771545672
Question Type: | MCQ
Q i n[ng +k2)
uestion: lim =
LR (n4 +nk? +k4]
L
A: ‘\E’:-
N 21
. Bﬁ
LR
C: 2\{5
o T
| 3
Topic: Mathematics-Section A
Item No: 73
Question ID: 154771545673
Question Type: | MCQ

Question:

¥ =3(x) DOLITI xdy + [xtan ( 2 ]-y)ﬂ: 0 .x>0 D02 BTFTOT

ATV, FABBAS eh3y YD=T 533, y(2) & 23305

342




3
B:
242
1
C:
242
D: in
Topic: Mathematics-Section A
Item No: 74
Question ID: | 154771545674
Question Type: | MCQ
%+ X725 b>0 002 B9EFOR BeBTE BOTOTCEPNTIE y =
I:’I_:I_
Question: ¥(x) D02 e3FTBOD 33,3 DALY 131 e3NTD. eH3) y(5)=0
vestion: eSNTS. y = 1(x) Q02N 3-e9FT, P a3, © DoRNFE), DA, P
203, 0 DoTINFE). y=y(x) TLED A JIEING T 2)0thedDE). SoHAD.
€371 APTQ 3 eJALEaE )
A 13.5
B: 13
C: 14.5
D: 15
Topic: Mathematics-Section A
Item No: 75
Question ID: | 154771545675
Question Type: | MCQ
2 2
. =1 Q02 ©93zTIO0D 203, ﬁ#’}— =1 Q02 BErrel, 3N
at 12 25 9
Question:
Pee)neh e903ne3eens, (E,; + Ji0) TOLIOIWNTNE a. a + 1) T LT
TOCHBATHE L EBTBLONT eV3,L08)00 3050
2
B: S
c. 3
- Nz
D: >
2
Topic: Mathematics-Section A

ltem No:

76




Question ID:

154771545676

Question Type:

MCQ

12 =l 33, =—1 DO BFTEBNS) AOEI0T; A JETeId,

Question: BRODRD,. 9T .63 % e3NTE). e371 k 0P, BRODOT
03TOY )

A (2.4]

B: (=3.-1)

C: [-4.-3)

D: (1.3)

Topic: Mathematics-Section A

Item No: 77

Question ID: 154771545677

Question Type: | MCQ

ax+by+cz+3=0000ANB0e) 2x—y—-22+3=0203) 3x-2y+62+8

Question: =0 Q0 AHIONFR, OEVTAITeIT,NATIZO3 LDFATS. esn
a+b+e¢dd 3e3oin
=31
B: 28
C: i
15
D: -28
Topic: Mathematics-Section A
Item No: 78
Question ID: 154771545678
Question Type: | MCQ
x| 0-10 1020 20-30 30—-40 40 - 30
A 3 3 2 ¥ v S f=20
Question:
D02 BIVOTWEN =305 ; eI, e sehned Asdoene. Temewd,
xyz =
A: 54
B: 80
C: 100
D: 108

Topic:

Mathematics-Section A




Item No: 79
Question ID: 154771545679
Question Type: | MCQ

AN 3,0 [OTET A 202 2)0TRIVE). 2,20, 23,2030 2,073 ©OW
RACDTE 3D P O, Neddd, €950 B, 3, TR, (0303, 45°
OT MTIBATTOR. A 030 B3,zh M) 50 m BATH) TI303 B

Question: 02) 23,3030 BT 23 08T, 2,000 &3¢ B o), eade
RREHTE B3, TR 30D P 0w 30° e3533, Rete)0n 030
(eDe&IT T )

A: 2542

B: 5042

C: 256

D: \i%{il

Topic: Mathematics-Section A

Item No: 80

Question ID: 154771545680

Question Type: | MCQ

Question: Sl ATNEN VAL I OV O TR TN RS [N O AN I TOVWD TATA N,
(~pP)vg)=~({@=9)

B: (~E=g)A(~p)

C: =g Ap

D: (~p)A(~q)

Topic: Mathematics-Section B

Item No: 81

Question ID: 154771545681

Question Type:

Numeric Answer

2+ 3x+ 2|+ x + 5/ —2=0,x € R Q0 AedEFTTE8,03e3 BOTHICNY

Question:
AO&5;0800
Topic: Mathematics-Section B
Iltem No: 82
Question ID: 154771545682

Question Type:

Numeric Answer




[xz £ 2+?T (1+22)° @02 DR THAHE), ¥ & HBTHEITIT,

Question: .
eI SEATIVN DTN py TNI, P1 riep) wc@e shdy, mee,e Mo,
e9edeg0%s; HOs,NenEd, P1 T P2 S0

Topic: Mathematics-Section B

Item No: 83

Question ID: 154771545683

Question Type:

Numeric Answer

26 — 32— 12x + b = 0 D02 AeCTTLITY) s eT) 2™, TROTIF R,

Question:
B2RODTT, b FRWIFOT 33PN FIN LTIV AOL;NEH .
Topic: Mathematics-Section B
Item No: 84
Question ID: 154771545684

Question Type:

Numeric Answer

B3, SAEE TYONOER 2,00 €900 TRFI0IN 0o 63,03. €3
FRFHROD BWOoDT a3, eoien ITHT. 90 TIDAD 20Ny
2,053 F9 220N, B9TU0 medwetided 60° 203, 950 JALEE )
1.5 m? e37173. 233, 3) THa303 e9130 i) 1 m. €3N, 930 3Ty
x = xg (eE,NFE)) 370303 930 ALEIE oY) TR, 2RNTT03
SRIBE TOETTR, VBOILENACDINTI,. TMOweN 16 x,* &3
pteleVinIARATSIONS]

Question:
|
| A
6
a7
Topic: Mathematics-Section B
Iltem No: 85
Question ID: 154771545685

Question Type:

Numeric Answer

Question:

=15y =x.x=-18D32Ly=x% i’ =x. x=1 D02 JFTCHM eD3), x =2y
202> RO RO €353, 30 BOOT IALDFTY —— . &ST3. n




Topic:

Mathematics-Section B

Iltem No:

86

Question ID:

154771545686

Question Type:

Numeric Answer

A(0,a+2).B(0,a).C(-2.0) 203, D (2. 0) 02 Toen, 2JOTNLT,,
203y, 4D 23), BC d02) BEBNF, P (x. ) ©€), e3ehA ). 2,003 &3¢ P
O 20T BTJeg) f(x. ¥) = 0 02 FTCS3IWNG,. 2030, (4, 7) QOW

Question: :
DOTHIVE), BHHEBT ¥ 5.FE Ty - +§ =1 e3530, o (B-7)
23e3on

Topic: Mathematics-Section B

Item No: 87

Question ID: 154771545687

Question Type:

Numeric Answer

V2 - AENBOTE). FSFHTHET Ly 0302 Tedah y 503y, z ITKETBTH
B EHEeN }1 3 é (C> 0) &SNTO.

Question: 1z -AENI3OTE), Be3ATE3 L, 02 BEBOD x eh ), z ATEETINE)
E9rNTeleIa N % a3, —% reande). L; eh3), L, Btane 30,
o0 é 3330, 2 & RO L3edoin

Topic: Mathematics-Section B

Item No: 88

Question ID: 154771545688

Question Type:

Numeric Answer

0 ABC 202 Aadi0030 233023063, 0 02T
eDROL)OTIINTIY,. 4 (2. 4. —5) 203, C (b, 2. 3) e3NTD. a € 11, Yoo,
P(a, a.aq)eD3)

Question: 0(9-a% 3. a-1) DO TR DOBINYAS o 0b 23D op O
g fa8e)) 2 SNTR,. eI, 0g ), 3 LENLRODN
OTVERITIT,083) TR, (08| +[ad] =

Topic: Mathematics-Section B

Item No: 89

Question ID: 154771545689




Question Type: | Numeric Answer

P(X = g):% = 1.2,3, e, DO OIOT, 2T 230 XSS
Question: 20233 0H I BOBBOIET X S BR0 DBOTOI
e3NTIeHT30.
Topic: Mathematics-Section B
Item No: 90

Question ID: 154771545690

Question Type: | Numeric Answer

-
S= JLE}E [0, 2] - E 3%[ -sin ! (sinB) + cos ! (cosB) + tan"! (tan 8}:4—;[}

Question:

30
e3NT, esnt, — 2. 0 73 23e3asn .
T ges




